
第4章 1.「累乗根」「指数の拡張」 第3回

解答
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解説
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(3) 与式 = 43 = 64 (4) 与式 = 1(
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(5) 与式 = 52+(−4) = 5−2 = 1
25

(6) 与式 = 35−3 = 32 = 9

(7) 与式 = 54 × (5−1)2 = 54 × 5−2 = 54−2 = 52 = 25

(8) 与式 = (2× 32)3 × 2−2 = 23 × 36 × 2−2 = 23−2 × 36 = 2× 729 = 1458

(9) 与式 = (23 × 3)2 × 2−3 × (3−1)4 = 26 × 32 × 2−3 × 3−4 = 26−3 × 32−4 = 23 × 3−2 = 8× 1
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